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All the movables LI B

Overview
The X723 cites a mwn (regarding the 7127 11") that all movable items transfer AR if
they are as wide as the diameter of a ¥71." Our Mmoo clarifies this mawn.
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The 71w» mentions P>ubun, because they were not 782 213 by the y7a2:7 921w,

only for the person who is carrying it (y5voun) -
= ANMIVA NN PPNAN 1) D92INNA 1DPANX NAV NMOA *Hax

However if the item which is nnan %y 208n is a nmow wide, even if they are

attached to the ground (they are not 17u%vn) they also transfer the mR=W to

anything beneath them -
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For it is only regarding plants and vegetables, which have no substance, does

the mwn state there, that they do not bring X110, and do not protect from mxmu -
= N721Y 199N 91991 ADYWN 19321 NIV M M"NT

Because M7 o°v71 are like drops of hail, and snow and frost, and ice, and salt

which are also mentioned in that 71wn, which are also 0°¥xI7 871 2% K7 -
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However a tree which hovers over the ground, transfers the 782, as the mwn
states there for it has substance.

Summary
Trees which have substance can be Xn7 DX X°21 provided they are ndv Nro.

" A y7n is a goad or prod with which one guides the plowing animals. See 212 7"7 >"w that the circumference of a
v71 is a ndwv (3-4 inches) which makes its diameter a third of a 19v (an inch or more). If one end of a Hv5wn7 727
(which has the circumference ¥7717 *2w3) hovers over a i and it is being carried by a person (see ¥"7 on X,1), he
becomes YW NRMIW RV as if he was Ny 7R3, Even though " an X must be wide a nov and a ¥7711 is merely a
third of a nov, nevertheless this was the 927 11> n13 that Y777 22w 170507 are ARAIVT DR 7R,

* Moo may be asking why mention 1oubun, the 7awn should merely state that Y7777 “212 ARMILA DX PRI,

? Therefore since the axm of Y7771 *2Ww3 is only for the person carrying it, therefore it needs to be 12uoun.

* mpoIn does not want us to assume that trees which are 0121 cannot be XMW NX PR,

> They are not durable; they wither away.

%a"n n"s nonR

! 7°X°21 R? means that if the item hovers above you and the nn, it does not transfer the Xm0, D°¥¥7 X1 means that if
this item shields you from the xmv (you are hovering over the Xmv and the mp7° are between you and the xmw),
it is ineffective and you are Xnv, nevertheless.

2" n"s mnK.
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Thinking it over
What is Moo teaching us, we all know that 27X N2 is certainly by 0°121%; a

house is 27182 Xnvn?!
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